
 

         1. CONDIZIONAMENTO  SEGNALE  DI  CORRENTE : CONVERSIONE  I/V, RECUPERO  OFFSET, AMPLIFICAZIONE  (  2 stadi  invertenti ) 

 

V01min = - Rf * Iinmax = - 10 [KΩ] * 200 [uA] = - 2 [V]                   Af2 = - R4 / R3 = - 10                Vo1 min + Vdc = -2 + 1 = -1 [V]                             Vo2 min = -10 * 0 = 0 [V] 

V01max = - Rf * Iinmin = - 10 [KΩ] * 100 [uA] = - 1 [V]                   Vdc = + 1 [V]dc                                         Vo1 max + Vdc = -1 + 1 = 0 [V]                                           V02max = -10 *(-1) = +10 [V] 
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         1. CONDIZIONAMENTO  SEGNALE  DI  CORRENTE : CONVERSIONE  I/V, RECUPERO  OFFSET, AMPLIFICAZIONE  (  2 stadi  NON  invertenti ) 

         

V01min = Rf * Iinmin = 10 [KΩ] * 100 [uA] = + 1 [V]                   Af2 = 1 + R7 / R8 =+ 20                Vo1 min + Vdc = +1 - 1 = 0 [V]                   Vo2 min = ½ *20 * 0 = 0 [V] 

V01max = Rf * Iinmax =  10 [KΩ] * 200 [uA] = +2  [V]                 Vdc = - 1 [V]dc                                                  Vo1 max + Vdc = +2 - 1 = +1 [V]                         V02max = ½*20* 1 = +10 [V] 

                                                                                                       Attenuazione in In 2° stadio= ½ 
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